


— Which one is the largest among the fractions (5/113), (7/120), (13/145) and
1 a71160)?
R (5/113), (7/120), (13/145) AR (17/160) B T T8 TS 2?

(a) 5/113
(b) 7/120
(¢) 13/145

d) 17/160




$/ Nirmit can do 2/3 of a job in 18 days. Kashish is twice as efficient as Nirmit.
2 In how many days Kashish will complete the job?
i 18 feAt o 2/3 S v St wemar 31 wldrer Frfie & S orer 31
wForer fary Rt i o et et

(a) 29/4

(¢) 312
(d) 132




/4

The length, breadth and height of a cuboid are in the ratio 19:11:13. If length
3 is 30 cm more than height, then what is the volume (in cm?) of this cuboid?

Teh T hl SETS, T1STS SIRFeS 19:11:13 3 TUTA | 81 Al oiaTE Havg
¥ 30 T 31ferer B, a7 39 9aTH hY A (AHE W) T e?

(=)

B
A

(a) 81510
(b) 89665

(¢) 195300
d) 339625




=)

Average age of a team having 12 players is 23 years. If the age of the coach is

B
A

4 also included, then the average age increases by 2 years. What is the age (in
years) of the coach?

12 Raenteat areft dw i sitam oy 23 T9 31 Al wir it suw it e 8, /Y
A SW 2 WIeT 9 AT 3| hie hY T (o ) FAT ]2

(a) 41

WK

(d) 51




$/ An item is sold at two successive gains of 30% and 20%. If the final selling
S price is Rs 31200, then what is the cost Drice (in Rs)?
Teh S 1 30% 3T 20% 33X Shiveh o1Tw W e 1Tt ) At sifaw fomar
T 31200 TUX &, A 0T (S0 W) T 22

(a) 15000

(b) 20000
(¢) 22250

(d) 24000




= Aman and Kapil starts from Delhi and Gwalior respectively towards each other at same [St)
6 time. They meet at Mathura and then take 196 minutes and 225 minutes respectively to
reach Gwalior and Delhi. If speed of Aman is 30 km/hr, then what is the speed (in km/hr)
of Kapil?
ST SR T e e e e v s Rt i A e e )
Ay ¥ frerd 3 ofk fo vanforar etk feeedt ugem o forg shmer: 196 fme otk 225 fome
T & i e hrafar 30 fomedft / sieT }, ot swfuer hynfer (et / der o) s @2

(b) 30
(¢) 225/7
(d) 392/15




&Y 1irx +-(9 /x) =9, then what is the minimum value of x! +(1/x!)?

Tafrax+©/x=9%ax2+(1 / x2) ST AATH W T 52

(a) 95/36
(c) 86/25

(b) 97/36
(d) 623/27




@/ If (5x - y)/(5x +y) = 3/7, then what is the value of (4x2 +y? - 4xy)/(9x’+ 16y> +
8 24xy)?
a2 (5x -y) / (5x + y) = 3/7, A (4x2 + y2 - 4xy) / (9% + 16y + 24xy) FTHT FATE?

(c) 18/49

(b) 3/7
(d) 1/6




®/ ABCD is a parallelogram in which AB=7 ¢cm, BC=9 cm and AC =8 cm.
9 What is the length (in cm) of other diagonal?
ABCD U& @i Iy § et AB =7 8%, BC =9 9#T 3iR AC = § At 31
I Farwut Y iag @t 7 T R?

(b) 14v/2
()7
d) V2




®/ How many diagonals are there in octagon?

10 greaiofir i fire frmot 32




: h" If sec” O + tan” O = 5/3, then what is the value of tan 20?
m% sec’ O + tan® 0 =5/3, al tan 20 HT HF T 2?




@2/ Which value among ! 5, ! 6, ! 12, 5 276 is the largest?

12 V5, V6, V12, '{/276 F fia s arum e 9522

(@ V5

®) V6

© V12
@ ‘3276




)

Three solid spheres of radius 3 cm, 4 cm and 5 cm are melted and recasted

13 into a solid sphere. What will be the percentage decrease in the surface area?

T 3 A, 4 At 31 5 AT & A 3 Moy ! U ar SaT e AR w3
et W QA TR0t foRaT STraT 31 It & & Sifaora ® et s arii?

(a) 12

(b) 14
(©) 16




K_f The difference between the compound interest compounding half yearly for 1 =]
14 year and the simple interest for 1 year on a certain sum of money lent out at
8% per annum is Rs. 64. What is the sum (in Rs)?
1 ¥ 3 Foru arefaiiies srsmarfay saTet 3t e i aRTw 1 o & frg
TTLRUT ST ok 1T T 3R 8% U o Rr & 64 & B) AIST (T o) AT R?

(b) 42000

(c) 44000
(d) 44800




¥/ What is the simplified value of cosec 2A + cot 2A?
15 Cosec 2A + cot 2A WWW@T%’

(a) sec A
(b) sec(A/2)

(d) cot2 A




The length of two parallel sides of a trapezium are 18m and 24m. If its
16 height is 12 m, then what is the area (in m?) of the trapezium?

T T oh ST AR JeTTeit Y oiang 18 H 31 24 i 31 afS goeht
FATS 12 HieX B, A AHe &t St (%) ST e?

(a) 126

[ ®27]
(c) 504
(d) 1024




Three bottles of equal capacity containing mixture of milk and water in ratio 2 L
: 5,3 : 4 and 4:5 respectively. These three bottles are emptied into a large bottle.
What will be the ratio of milk and water respectively in the large bottle?

U R Freror it AT et ATt il SHAT: 2: 5, 3: 4 3 4: 5157
T et oht Uk St didtet § TTe T ot foT STt 21| St Siaet o shuet: U 3l
Ut ST SIUTA T EWIT?
(a) 73 :106
(c)73:113
(d) 73 :189




; In the given figure, DE||BC and AD : DB =5 : 3, then what is the value of
18 ®EBC)?
fRunu i W, DE || BC AR AD: DB=5: 3, @V (DE / BC) ST HA T 2?2

A

ENOLLE

(b) 2/3
(c) %
(d)5/3




-~ If(1/x)+(1/y)+(1/z2)=0 and x +y +z =29, then what is the value
19 of X3 +y° + 23 - 3xyz?
IRA/)+A/Y)+(1/2)=03Rx+y+z=9,A +y* + -
3xyz T A FT2?

(a) 81
(b) 361

(d) 6561




Find square root ?

8+J57+\/38+\/108+\/m WE"?H@[EIWEI?{?




21) Pipe X and pipe Y together can fill the tank in 45 hours ,while pipe X ,pipe Y and pipe -
Z. together can fill the tank in 60 hours and pipe Y and Z together can fill the tank in 90
hours . In how many hours pipe X alone can fill the tank completely .

ursy X 3iz ursu Y fHcIas: b bl 45 @ 3 42 DA 8, Sidich UIsU X, Ursu Y 3ii
Ursy Z f3c1n: b Dl 60 ¢ A U2 ADd & 3R UrsU Y 3R Z fBictap: b @l 90 @i 3
313 APd 3| UISU X 3dbcl ¢ Dl fdbdol & 3 3R ADdI &

180
150
145

none

P -




22)A vessel contain mixture in which water is 30% and rest is milk . If 22 liter more water

is added in the vessel , then the quantity of milk become 60% more than water . Find the
quantity of milk in the vessel initially

Qb sciol 3 farervr 3 f512131 30% uroll 3 3iiz ardbl g1 31 AfS siciol 3 22 cfic urell 3iiz
férem fa Sirg, A ger &1 s aredl A 60% 3iféra 8 Sirdl 31 31 d adot 3 ger b

#ABII SId bifste .]

1. 122
2. 112
3. 121

4. none




—
&

SRSt @

23)The average of marks obtained by 150 candidates in a certain examination is 50.1f the average

iy

marks of passed candidates 1s 55 and that of the failed candidates 1s 25 ,what is the number of
candidates who passed the examination?

D folfd u3tetn 31 150 IFiGaR] GIRI UTd 3icbi I 3R—IA 50 ol 2AfG 3ciivl IFslcar] o1
3T 31D 55 3 312 ™AW IFHIGAR] DI 3N 3D 25 3, Al UILSI Iciivl dol dIel

A.125

B.120
C.140

D.160




